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If COLLEGE is. codod as AMJICED, then
the code for UNIVERSITY is

(1} VOJWFSTJUZ

{2} TMHUDQRHSX

(3} BLGTCPQGRW

(4} WPEKXGTUKVA

IF TABLE is coded mse WDEOIL, then the
code for HOARD is

(1} CPOSE

(2} ERDUG

{3) ERFUH

(4} ESIWG

I FAT is indicated by &+ 1+ 20, then the
indicator for LEAN is

(1) 12+65+1 4+ 14
2} 1l+44+14%13
(3) 10+6+2+ 14
) 12444+ 1 13

Find the edd ane out from’ the following,

(1) Chess

v2)  Carrom

(3} Takle tennis

(4] Hockey

In the following, which one is differant
from the other throo 7

(1) ACE

(2} RDE

3 CEG

4} DFH

In the following, which one is difforent
from the other three 7

(1) AQIU

(2 AUEI

(3} EUOI

(4) ALY

[}

© Ao

3?

(]

COLLEGE o '8 AMJICEC eowsd
UNIVERSITY ciu# &G

i) VOJWFSTJIUZ

(2 TMHUDQRHSX

3 BLGTCPQGRW

1) WPKXGTUKVA

TABLE &Sy BS WDEOH wowdd,
BOARD Gz &4

(1) CPBSE

(2 - ERDUG

(3} ERFUH

(4) ESDVG

FAT 20 6 + 1 + 20 & Dol LEANZ
&% argar A DSyt

(1) 12+8+1+14

21 « 4 + 1 + 183

D 10486+ 2+ 14

(4) 12+ 4+ 1+ 18

@ god RGO Dofeddd ool
e '

(1) Sy

(2) sgﬁén:-::i,

(3) et BiIyD

(4) 4

G (B0 2D 08 Dofeddd® o0l
Srafidn 7

{1) ACE

2y BDE

(3] CEG

(4 DFH

9 (Sol > 06 Defedss oDl
ety 7

(1} AGIU

(2) AUEI

() REUOI

(4} AUYO
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If 2, 5 x, 17, 26 follow a certain rule,
then x =

(1) 9

(2) 10

(3 11

(4) 12

Find the next number in the series
3, 12, 48, 192, ...

412

514

768

1110

(1)
(2
3)
(1)

If 1+2=5 92+3=13 3+4=25
in a language, then 4 + 5 =

(1) 31

(2) 41

{3y 51

(4) 59

If 5+ 7 =40, 4 =6 = 28,
in a language, then 8 = 4 =
(1y 36

(2) 40

(3} 456

(4) &0

B3 =24

It a*bzaz—ab-bhz and

aﬂ.h=a—;, then (1 A 2) % (3 A4) =

(1) 30
2y 31
(3) 40
(4) 41

5)
+

2, 5 x

10.

11.

17, 26 o0 a8

ﬂ“ﬁﬂ'ﬁé‘:ﬁi, X =

Doy

(1 9

(2) 10
3 11

4) 12

& PSS durgd Dopgd i
g, 12, 48, 192, ....

412

514

768

1110

(1
@)
(3)
(4)

ef RS 1+2=5 2+3=13, 3+4=25
wobdT 4+ 5=

(I~ 31

12y 41

(3) 51

(40 59

2 St 5+ T =40, 456=28 6=3=24

wonnt, 3+ d =
(1) 35
{2y 40
(3) 45
(4y 50

aw® b.= a’ — ab + b2 0ok

aAb= ab)
2

wouds (1A2)=(34A4)=

(1) 30
2y 31
(3) 40
(4) 41
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A sits facing towards East, If A turns 270°
towards right and then 180° towards left,

then the direction A faces now is

(1} East
(2] West
{3} North

(4} South

Find the value of x in the diagram given

below :
8 2
6 32 4
84 X
7 10 3
1 a
(1) 24
(2) 25
(8) 30
(4) 35 )

The next term in the series

ABZY, CDXW, EFVU, ...
is P
(1) GHTS
(2) GHST
(3) HGTS

(4) FGTS

(€)
12,

13.

14.

A wlsrd Srdy dupom ErdpnEnyd. A
©aZH%  270°  BOA  Sogd  180°
QEDSH B BOALT, adypd A K b
Gy By

(1) é&“ﬁ{}
(2)  Hbdd
(3) &ddw

(4) Eeasdw

&i (808 HOIST x Dewdd HHofFdody

a8 2
6 32 4
r 84 X
" 10 3
1 5
(1) 24
(2) 25
(3) 30
(4) 35

& [A3SD dored DA

ABZY, CDXW, EFVU, ...

(1) GHTS
(2) GHST
(3) HGTS

(4) FGTS



| Indiavidya.com
ASA0T [7]

16,  The odd figure vut of the fllowing is 15 & [Soh aRd Danden b

(L) h
(2 A
(&)
(4] k

16.  The odd one out of the following is 16, & |Zod S0 Dindand

(1 T l 4V T l

» [ ® [Ld
@ M @ (1)

- (1)

12]

(3}

VWDV

[

o U | o [T

17. The next number in the series 17. & (28D do-pd Sdin
1, 3, 6, 14, 15, .... 1,8 & 10, 15, ...
i ' {1y 19
(119 T
- 3 23
]

23
PR 4) 25
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Find " in the following :

1o )

(1 M

2y L/

@ €
@

If C is the mother of A, D is the husband
of C, E is the wife of F, F is the brother
of C, then F is the of A.

(1) paternal uncle

(2) maternal uncle

{3}  brother

(4) sister

A wall clock shows the time 9.00.07 it is
placed on the ground such that its
minute-hand is towards south then the

- direction of its hour-hand is

(1} East

(2) West
(3) South
(4y North

What day is 26" if 3" of the month is
Wednesday ?

{1} Sunday

(2)  Tuesday

(3) Thursday
(4) Friday

(8}

18.

19.

20,

21.

G (308 ST T D BN

<O 2 |16

(1) TN

gy LS

@ €
@ 3

A {ﬁ&}ﬁzr é§ [ ﬂfﬁnﬁﬂ_ Ei:l’_q D, F qﬂu!:-f&
a_:“dg E, C ﬂ.néa_ Sk F wowdsS, A
{ﬁ.uﬁa, F e,

(1 Doyt BE pEardy
(2) Hiddrdo

(3) &Sk

(4) &S0

wE  Fd  dSolrdin  stedud 9.00
SUSATeER AR Haw Jvare moen S
Arood dorr 2lrEa s ‘;‘.:éé:bﬁ“, Hobe
ey drdoh BE)

(1) é?ﬁa;}

(2)  DEad

(3) &

(4) SESHD

28 Bt 35 By e Eod’ 265
BHp 7 : -
(1) shodow

(2) Soldarddw

(3)  thdardim

4) hEorEdn
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(3) Tuesday

(4) Saturday

If a * b stands for (a2 + BY® + 1, then

1 #(1=*2)=

(1) 12

(2) 122

(3) 2121

(4] 1212

If we denote (ab — 1) + b by a A b, then
1AZ2)A(1AZ =

(1 32 |

(2) 64

(3) &7

(4} 70

A is four times as old as B. After 4 years,

the age of A will be three times as old as

B. The present age of B (in years) is

(1) 6
(2) 8
(3) 10
(4) 12

If x° = 0125, then x° =

(1)  0-3125
(2) 003125

(31 0003125
(4) 00003125

(9)
22, If 1% February of a non-leap vear falls on |22.
Thursday, then what day will be the 1% of
April of the same year ?
(1) -Sunday
(2) Monday

23.

24.

2b.

26.

OHsn  DodSyEEnd'd  Hwnd 1
HHTEHT, of JodE s DS 1
D Bt ?
(1) edardam
(2) FeoarSaw

(3)  volFardaw

(4) BDardsm

a+b o3 @+ b+ 1 wondT,
1 % (1 » 2) =

(1 12
(2) 122
(3) 2121
(4) 1212

al, - ];I2 +b daidbd Hroodds,
AZA( AR =

(1) 32

(2) 64

(3) 67

(4) 70

B ¥08 A sreoth Odn DEard. 4 doddyoro
do=ed, B ¥0B A AR e Téw Dardh. |0
B Gln) Hokiy (Hosdydhned®)

(4) 12

x® = 0-125 e o0DTT, =
(1) 03125

(2) 003125

3)  0-003125

(4) 0-0003125
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C iz taller than A and D, and shorter
than B and E. A iz taller than D. E is

the tallest person. Who is in the 4'P

position heightwise 7
(1} A

(2) B
(3) C
(4) D

Five persons A, B, C, D and E sit on a
bench such that A and C are together but
C is left to A, E sits first, D is right of E
but left to C, and B is the last one. Who
is the middle one on that bench ?

(1) A

(2)
(3)
(4)

2 O =

Find the next term in the series
] 1
50, 335, 25, 20, .

2
(1) 16—
j 3

1
1§
(2) 18 3

(3) 16 .
(4) 15

Find the odd one out from the following ;

(1) Yellow

(2 Black
{3) Blue
{4) Red

(10).
27.

28,

29.

30.

C od o A 8w D o gaa TAEIS R
8o B @wfiofy E o £05 ﬁl‘ﬂmﬁ&a A o
e D 0B P ETdaid, ETA E
wdcod DEIdard, 33‘&5@@5‘9 4 % s
008 7

(1) A
(2) B
3y C
4 D
g .E}EQ'J?E% bt T STe ég_&‘in.:m A B C, D
0o B e 'ﬁmgsﬁﬁa JBS® A Sbosu C

w »EEH86 570 A § C JBZy, B Sndd
éﬂﬁ‘b:ﬁ::&ﬁ D o3z E &8 £a3% 50 C

8 JBR3Y), bon B edard 058 aed.
& EJEEé Soiied® JHE Erdneydh 7

A
<) B
(3) C
{(4) D
& (@565 Sovgd Bt 98 2

o0, 33%, 25, 20, ...

1 162
3

: 1
16
(2) 3

(3) 16

(4) 15

& (308 >0S° DHRIEB 7
(1) ﬁ:ﬂg}éﬁa

(2) Hendy

(3) Dodx

(4) S
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If a*sb=a+ab+b-1, then 2= 3 =
(1) 6
(2) 8
(3) 10
4) 12

In a group of ants and spiders, there are
20 heads and 136 legs. How many ants
are there ?

(1) 8

2) 10
3 12
4) 14

5 years ago, my sister's age was 5 times

my age. Now it iz 3 times only. What is
my sister's present age (in years) ?

(1) 30

(2) 25

(3) 20

{4y 15

In a leap year, January g6'h is Saturday.
What day will be August 15 in the same
year ?

(1} Sunday

(2} Monday

(3} Thursday

{4} Friday

In the year 2006, the Independence day is
Saturday. What day will be the Republic
day in the same year ? '

(1) Monday

(2) Tuesday

(3) Thursday

{4} Saturday

111}

31.

32,

33.

34,

35.

asb=a+ab+h-1 ewoudF, 23 =
(1 6
2 8
(3) 10
4) 12

Do ok rddhe Sfardind®, 20 doen
Doofy 136 sehy aImow. e Ny
G ow 7

(1) 8

(2) 10

3 12

4y 14

5 ﬁoéé&mt} a’gjﬂﬁsm, o a8 &rc:«ia"rm;]
o808 5 Bin adyd ad 3 Ot @D
T OUNWO Dpd Hobidny (Doddydhunod®)
aizés 7
(1) 30
(2% 25
(3) 20
{4y 15

2¥ O JoRSYEANES, whDHd 26 HTE.
of DodS Eins® el 15 O oddw ?

(1} esSardomw

(2) Toardaw
(3) Hothardaw
(4) B|Eardan

2006 HoHSENEEnS®, Jgdodse HBI'Sydiw
Foardin.  ed  Doddy¥and®  Hedo(d
Oddw o arddn 7

(1) Fhadaw
(2) HoXdardin
(3) hdhardiw
(4) 4dardim
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(12}

In a wall clock, what is the angle between the
minute-hand and hour-hand at 5 o’clock ?

(1} 90°

(2)  120°

(3) 1s50°

{4) 165"

In a mirror, the image of a wall clock
shows the time as 9 hours 50 minutes.
the

What is the actual time shown in
clock 7

(1) 2 hours 10 minutes

{2) 3 hours 10 minutes

(3) 4 hours 15 minutes
(4) 4 hours 20 minutes

Which one of the following plane figures is
not convex 7

(4)

(999)* — 22 =
(1) 998007
(2) 995997
(3) 996997
(4) 997997

If fix) =x° = 2x" + 7 then f2) is
(1 5 ‘

(2) 6
3 7
4 8

36.

37.

33'

39.

40.

&
28 'd KGordins®, 5 dobodd dddro
D0ode Hobe f0¢y docdy ety ot ?

(1) 8o°

(2) 120°
(3) 150°
(4) 165°
odtwd® ¥ Fd  Kdordiw Chwo¥y.
[@P8Doixw 9  Hobe 50 Rdddwoe

Drdodd @ HAordin HrDoh  eden
ST Do ?

(1) 2 fodwo 10 JdDdwen

(2) 3 fHodve 10 Jvddwen

(3)° 4 fdobe 15 AvHRwen

(4) 4 Kobe 20 JibdEwen

S (808 =S 2 Hudw Hoyrsddn
=8 ?

(1) 998007
(2) 995997
(3) 996997
997997

fix) = x° — 9% 4 7 LowdS, f(2) Dend

(1) &
(2) 6
3y 7
4) 8
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If Ea+2}2—{a—212=4ﬂ, then a =

(1)

(2

3
5
3y 7
(4) 9

In A ABC,
the length of its hypotenuse is 8 unifs,
then the length of any
unita} is

(1) 4.2

2 a2

(3) a2

{4y 1

pther side {in

If A=1{a b e d e fl, B=l{a ¢l g

and C = la, d, e, g, hi,
then (AN C) U B =
(1) 4a, b, e d,e g

(2) i{a,b,c e f gl

(3 la b def gl

(4) la, c, d, e f gl

Five persons A, Ay, Ag, Ay and A, stand on
a line such that the distance between A,
and A, is b meters; Ay and A, is 10 meters;

Ay, and A, is 15 meters; and A, and A is

30 meters. Then the distance between A2
and A5 (in meters) is

(1) 45
(2) 35
(3) 20
(4) 15

. J049x036x025 =

(1)
(2)
(3)
(4)

0-7

0-11
0-19
021

13)

Z B = 90° and £ A = 45°. If |42,

41.

44.

45.

a+ 2% —(a—2°=40 wondI,

(1)
(2)
(3)
(4)

et

L= B |

A ABC &5, 2 B = 90° &00fn £ A = 45°. &
Egdw D&D (Jrdsy) B olordi 500N,
aaﬁ 88 z:ﬁmfm 28D (el (chrdes®)

(1) 442
(2) 342
(3) 242
4y 1

A=1a b ¢ d e 0 = la, ¢, f, gl
Lok C = ia, d, e, g, hl @ondd,
(AG C) U B =

1) la, b, c, d, e, gl
(2) la,b,c, et gl
i3y {a, b, d, e, & gl
4y la, c d, e f gl

Aq. Ay, Ag A, anboin A wn ol

6"&5%&@} a8 éﬁ}ﬂt’i’a A, Zﬁb&&i}} A, © Ddg
53}: A, %obody Ay ui}dglnib Ay
Emma o &g 15 ﬁ): Lobofn A, b

A, ®© ﬁm‘,ﬁg 20 L. Srdow uoﬁﬂmm

SR G, wdpd A, Sob ok h o

Socfg S50 (oIS

(1) 45

{2y 35

(3) 20

(4) 15

J0-49x0.36%x0.25 =

(1)
(2)
(3)
{4)

0-7

0-11
0-19
0-21
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46.

47,

48,

49,

a0,

The

numbers is G5, Fiz_ld the smallest

sum of four consecutive

among them.

(1) 14
(2) 15
(3) 16
4) 17

15 is 80% of what number 7

(1) 20
(2) 25
(3) 30
(4) 35

The breadth of g
of its length.
find the

meters).

(1) 28
(2) 26
(3) 24
4) 21

breadth of the

If: f:B B
fix) = x* - x% _ 2x2
value of f—1) is

(1) 4

(2) -4

(3) -3

(4) 3

The perimeter
16 units. [ts length iz 5 units.
area (in square units).

(1) 12

2 14

(3) 15

(4) 25

rectangle is three-fourths
If the perimeter is 98 meters,

rectangle (in

is a function defined by
+ 3x — 1, then the

of a rectangular field is

{14

natural |46,

number

Find its

47.

48,

49,

a0.

DO S/ 6 Bires Howee T 66,
DS Wy a’mapgi&: S ofmodn

(1) 14
(2) 15
(3) 18
(4) 17

15 2 DOPES® 60% wiady ?
(1) 20
(2) 25
(3) 30
(4) 35

2¥ rﬁgﬁéﬁ@m Ohos) Sy w3
PEYS  TVob B Bodes, &
eFod 98 DOFLE’, SIS
oy Ideny (Hogs

(1) 28

(2) 26

(3) 24

4) 21

PR - R o Hdhon 8e SRR

fx) = x" - x% _ 92 , 3% - 1 woudd,
fi-1) dend

(1) 4

(2) -4

(3) -3

(4) 3

£ &g S |Frsd ElGE inEod 16

obrdtn. 8D FuH 5 i, &0
Y0y (SEEDH AT Hfmidy

(1) 12
(2) 14
(3) 15

(4) 25
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! ASA0T ; |15 ] !El
]: 51. The average marks of six subjecta is 78, out |51. @i P et st soan 78 Hasest
of which the total of 3 language subjects is 3 ardr oShofre Dedio 210, Hﬁlﬁb
210. Then the average of the other 3 subjecls NADS 3 Dolro Dol
% (1) 78
(1) T8 o a0
(2} &0 e b
(3) &4 W e
4) B8
52, 1 am. awbofs 1 pm. .;]Jf_ﬁgﬁs e o
52. The alarm is set between 1am. and 1 p.m. ’ﬂga:-‘ﬁ.\. =D S w8 Hob wedpom
But T woke up one hour late. At what time Hnets, 3k B0 etn Jod 7
did I wake up ¥
(1) Bam. {L;; 3 :.:
{21 7 a.m.
(3) 6am (3] 6 am.
i4) 5am. (4) B a.m.

B8 A ={a b o dhB=(b d, e 0 Hodok
O&N e, d, [ g hl mowsd, A UBUC
HOrOETE OE

53. If A=1la b e d, B=lb d e f and
C = ¢, d, f g hl, then the number of
elements in A U B LJ Cis

a8 {117 8
(2 7 et o
@ 5 (3 5
(4) 4 ) -4

54, wirS edard 16 Hohdyore 8 Jun Dol
Heards fobody orEQ 14 Dobdnyoo SHothiy

54 Mahesh iz 15 years & months old, while
Rajesh ie 14 years old. What is the ratio

of their apes ? Hemris, DB Soblne S8 aod 7
(1) 27:28 (29 :‘EEIE

(= 27:26 (21 27 : 26

(3} 21:28 : {2y 51 :28

4y 81 : 41 (4) 31:41

55. What is the speed (in km/hour) of a car if |55, =2 ==C 200 £ . g diatane 2-]21 Hobod
[Bodredodd, (=) G0y ria

it covers 200 km in El houra ?
2 (B.5u/Ho.0f") Joé 7

B
i;} “ (1) 80
e @ 6
(3) 60

@) 55

(4) 66
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The ratio af twa numbers is 3 - 4, If tha
RrEater number is 48, what i tho other
humbey #

(1) g

{21 &6

[ 40

141 44

The vost uf 18 liters of oil s T 854 How
many litars of wil can ha brought for ¥ 1200 7

(1 14
2] 15
(31 20
(4 28

A train teavels ai g specd of 80 knwhayy Hiow
long will it toke o trave) 2000 meters P

(LY 1 mingte
121 1% minukes
G312 minutes

1
(41 EE milriuntag

If a cortain number ts doublod and 4 ia
added to the respll, the sum iz 44, Find
the numbar.

(£ 10

(21 15

{3} 20

(4] 25

Il two consecutive guwen numbare are such
that T times the first excepds fjve timeg
the second by 94, then find the spallgst
e,

1) Az

{2}

(3 38

{4} 40

116 ]

36, Dok TN a1 4,

G,

(4]

i Ao 48
SOpEST, TN Hope Jed 7

113 24

(2) 46

(31 40 .

fdh 44

I8 &, Sr3 58 7 8pa T 1200 ey
Dod o it 7

(1} 14

{2y 15

(FAI (]

4) 26

."‘-\.-_;\.‘.SL

R Foo 60 8.0n/ro. Ffed Sotmeot,
2000 ;E-t-E:Eu (Poirdedahs wf  Jod
e SinEgng 7

1 S8

{2 1 ;ﬁ B e S AT

(3] 2 2dsdene
4] 2% Db

{1

L Rotedy Jododoy o SrEaMy Enfre
WU Sddn 44, o DR Hio i

(1 1o’

(21 1B

Lt 20

) 25

dodo &ddm £0 5A Romeedi, Fusgon
T i (fodes) Bodsoed § rd (Do)
S0l bd JEp e e 305 Dome 0 7
(1) 32

(2 a4

5 3a

(4] 40

¥
1

—ar .
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Directions : Read the following passages and
anster the guestions given below them, selecting
the correct answer [from among the alternatives
given. Mark your answer as (1), (2}, (3) or {4) in

your answer sheel,

PASBAGE (Q. 61 - 70}

Ants Lalk — not with words but with tastes |

and smells | Their vocabulary is_made up of a
mixture of substances they produce in varions
parta of their bodies and emit via their glands.
The substances, known as ‘pheromones’, are
signale that other ants can amell and taste
The messages they communicate set off a
specific kind of behaviour : fetching food for
instance or leoking after the food or feeding
the queen. Ants use a hundred different
seents to communicate n hundred different
messages, With such a sephisticated array of
organize

fragrances,  ants

tasks

MesEEnEor

complicated with  elose-to-purisi

efficiency.

When you see a handful of ants scurrying |

around in the kitchen without any apparent
purpose, it doesn’t mean they've lost their
bearings. They're scouts foraging for food.
Onee they've found something edible, they
report back to base, depositing their chemical
apores on the way. “Food located, please
eollect,” is the taste and smell message for the
other members hack at the nest, Soon, long
chains of worker-ants begin scurrying back
and forth from their nest ferrying food which
they hand over to ants who gpecialize in
of these anls
include keeping the nest in good order and

housekeeping. The duties

cleaning and feeding the queen.

Indiavidya.com

[-T7

DEf s @ G5 aRDE 5}573:),:5.5;:::;&: S,
s sodyce (fod wHedd Dfoydve  Sod

]{5.’:{1:@5: SOGRE maorawd w5, o) Howpd

(1), (2l (3 o ) & Sieord dddudodd
fhgodiod.

e sedadse (@dyes 61 - 70)

Hipew Dorod s sa Snbes lof
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What iz the passage about 7
(1} Behaviowr of ants
12} Anits intelligense
£
(47

Ants communication
Ants talk

What is the vecabulary of ants made up of 7 lea
(1} A mixture of substaness they produce in
vartous parts of their bodies
(21 Ants learn to talk
(3} With work
(4]  Enating fond
A mixture of substances ants produce {n
various parts of their bodios is known as  [59-
(1} resourcos
2] phoromones
G fragrances
(4}  efMiciencies l
1

How do ants recajve sipnals from athades ?
11} Smell and taste e
(2] Talk
G Understand
(41 Discussidan
Which one of the fallowing is correct 7

i

(1) Ants use n single scent to communicate

& hundred differont MERRATES,

(2] Anta do nwi use sespis e communicate

& hundrod difforent Mmossages.

W Anls use a hundred different scents to
communicate a  hupdred different

Messagos.

4y Ants uwee mouth to tomminicate a

hundred different Mmaasages.

[ 1B}

B1.

0

% Bodyis 30 Mood admas ?

(1) Qe HHES

(2) e BEOTHe

B Ldbe Sroed 30043
(4} Ddeer Do
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(1} =& H6dod’ 208 prmest il
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e BT & i BT RE
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3
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Which one of the following iz net included
in the messapes nnts cemmaniente that sed
off & specific kind of hehaviour ¥

i1k
{2}
il
{4

Fetching fuod
Looking after the leod
Coaking Fond

Feeding the queen

What Ls the benallt that ants get from using
messenger (Fagrances ?

(1) HNothing is usefal

(2 Anle orpganize complicated taeskas with
eloae-to-perlect efficiency

el
4]

Ants can work hard
Antz can slesp wall

YWhat iz the purpose of o handlal o anta
seuirrying around in the kitchan #

1)
£2)
(3}
(4}

Faraging for foad
Toa badld their nest I
Ta clean the houwse

TI'n pligy

What i5 1he taste and smell mezznge for the
ather members when scouts  hawve  Foondd
sumebhing edible ¥ |
(L
(H
[
(41

Slrangers Are coming, fo away
Food located, please collect
Dnnger ahead

Clean the nest

Which one of the hilowing is med includeid
in the duties of worker-ants ?

(1l
(2]
(3l
(4]

Eeaping the nest an gocd order
Cleaning

Feeding tha guesn

Searching for food

(19}

i
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PFABSAGE (€, 71 - BD)
After the accident, a car from the hospital
toak Krishna to hospital. The two men carviod
him fo a bed and put him in it carcfully, Soen
a nurse and a doctor came. The nurse wrate
hiz name and address in a book. The doctor
took the banduge off Krishna's arm, loked at
it carefully and put his hande en it He =aid,
"The arm is broken™ Ha said to the nurse,
“aive him eome ten bo drink,” Then he said to
Krishna, "I ot worry, we will do samething
just now, You will be all rdght sooen 1" Krizhna
was a little cheered up and said, "Thank vou,
ductor.” The nurae'guw.- him tea to drink and
eoversd him with a warm cloth. The dector
gave him an injection to lessen- his pain. g
tied 2ome bandages and applied plaster.
Erizhna's arm pained him a Jot amd he
requested the doctor to look at it The Hoctor
told the nurse to give ancther injection, Afer
thia Krishna could sleep well. While Krishna
was in the haspital, many of his friends came
to 2ie him. Whenever hiz father and mother
came to wisit him, they brought some fruits,
milk and beoks. There were seéveral other

persone 2ullering from diseases in Krishna's

ronm. He was all right within & week and |-

wenl home afier qr&&t-ing his rapm-fallowsa

120]
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71.

T2,

T3

74d.

75,

Why did Krishna po to the hospital ?

(1} To sese the doctor
(%1  Becans=e of the accident
i3] Because he saw a car from the hoapital

(4] Because he wanted to see hiIa parents in
the hospital

How many men carried Krishna to a bed ?
(1} 4
{2y 3
{3y 2
{41 1

Who zaid “The arm is broken™ ?
{1} KErishna

(2)  Daoctor

(3 Murse

id}  Car driver

Then ‘he' said to Krishna, “Do not worry,
e Here 'he” refers to

(1}  Doctor
(2}
{3 Ward hoy

{4) Father

Murse

He said to the nurse, "Give him some tea

ko drink.” Here ‘him' refers to

(1) Dector
(21  MNurse

(3]  Ward boy
(4} Krishnu

Indiavidya.com

1 21)

71.

72,

T3.

74.

95,

By eind|BE Jodoly ITHTEd ?
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V6. How many injections were taken by |76,
Erishna 1o get a good sleep ?
(1 1
2y 2
3 3
4] 4
¥7.  HKrishna was not- alone in his room in the s
hospital because with him
(1)  were his father and mother
(2}  were his friends
(3] were the doctor and the nurse
(4)  were several other persons sulfering
from discases
8. Who brought fruits, milk and heoks 7 78,
{1}  Krishnas {ather and mother
(21 Krishna's brother
{3)  Krishna's sister
4} Friends
79, Krishna came home from the hospital g
(1} many days after o week
(2)  within 3 days
(3)  within a weesk
(4} after improving
80.  Whom did Krishna greet hefore leaving the
hospital ¥ B0,
(1) Other patients in his room
{2)  Doctor and nurse
(3} Relatives
(4)  Friends

Indiavidya.com

ol EEthanE SiE oy woBENes
3%&@%‘@1&: i

{1}
(2}
(3]
1)

e o BS e

5)g wsLdads & dadt u5d Sa

DO EAHM eadas

(1)  esd é@-ﬁqﬁawlm

(2] w&d In|doomyd

(8) @gth DBoXe B8y damy

(4) 208 Srees argiddidiy  arer
o R Sy

Rocy, e bol  Hstode S8
& ilyards ¥

(1} £33 gy SOSoen
(4] EJ@ EJ}EEF oS Eacks

(3)  Syh gy I

(4) - Tndeden

EJQ wron|s od modld Eﬁﬁéﬁgmﬁj
(1} 28 ardin & oo Sero digepd
(2 dordy Farodst

(3) 2. srddnst

(4] E‘wg‘ﬁ:;]_ dhamp st

WS 8 fod aﬁgﬂ*cﬁ}m-:-ﬁ:- £)8 JopS
werzrofo D% 7

(1) e .:"i.aﬁ"& abfee e
2) orgth Hboks By

(3] m@;ﬁm

() Tndrdoen




AS/401

Indiavidya.com

PASSAGE (Q. 81 —90)

. Az rains receded, I got a strange job. Cur
- neighbour, a rich merchant decided to become
a politician. His major handicap was that he
was illiterate and he offered me the job of
accompanying him on trips into the interior
villages Lo read and write for him at wages of
T 600 a month. I made several trips with Lala
Munshiram, as he was eallad, to the outskirts
of the village, sleeping under Llrecs, eating
stomach-full meala for once in my life.

In the willage, 1 was astonished at the
ignorance and poverty of the children | met. |
looked learned and rich against  their
ignorance and poverty. At night, seated on a
bench, | would write down the points dictated

[ 23 )

to me hy Lala Munshiram and then read to
hirn 8o that they would be fixed in his brain.
Many labourers would come to listen to his
speeches, which frmmi&ed them prosperity,

Our trips were tiresome, Travelling by bus,
bublock cart, rictkshaw or on foot, we went
from house to house and from village to
village. [ became a machine, recording names
and addresses of his supporters, and the
listening seemed to be endless. My job seemed
to be monotonous — deing the same job, seeing
aame people, houses and farme. To a huge
crowd, he would talk’ like a sermon, spitting
on the floor to mark off his paragraphs,
cl_appiﬁg oreasionally and thumping hia feet to
punctuate his sentences, all of which
captivated the simple villagers, who in return
shouted slogans promising him their support.

SouyEde (B4 81 - 90)

Sgren 805 Sompd, D of DoBd el
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I returned home in March with a pocleetful of
money that vanished into the bettomless pit of
needs of the household, My mother was proud,
even Aunt Sarala  became friendly,
grandmaother thought I performed a8 miracle
and my mischievous gualities had, by now
evaporated, But little did they know that Lala
Munshiram had lost the election, I had lost
my job and my status had reverted to the
earlier one of being a wayward haoy,

What is the meaning of 'recede’ ?

{1}  Move forward
(2) Move back
(3) Receive

{4) Enter

Who decided to become a politician 7

{1} DBeggar

{2} Doctor

{3) A rich merchant
{4) Teacher

What 12 the handicap of the merchaat ¥

{17 Iliterate

{2) Educated

{3}  Illness

{4) To do construction

What is the name of the 'rich merchant’ 7

(1} Barala

{2) Awuthor of the passage
{3) Vimal

(43" Lala Munshiram

Who use to attend the lectures of Lala
Munshiram 7

(1) Lahourers

(2)  Educated

(3) Women

(4) - Children

[ 4]

al.

&2,

g,

84,

a5.

2]
Hrondt o Hwidow - dupnod  godl
BoADTryE.  edibyrido o & zod
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JhBed Liddtonard: el DHoldy o0

C BOoSS Bobaty av &Eﬁgﬁa’m Towdd, ¥

ford erendir v dlofy  Hrdy pad
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'‘recede’ @i -ﬂgiﬂw 7
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2 dﬁﬁ Mo
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@ orpdrd S*HED 7
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) Ao cobhdo

‘G Badid E‘E.ﬂ‘ﬂ’ oy i 7
(1) B
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Eﬂ;,a:v-ﬁ: 7

(1) Exdeaw

(2) Syt

(3)  Zmew

(4) 2o



Indiavidya.com

ASM01 [26] : 2
86. Who was astonished st the ignorance and |B8. oo egrite  boiw boidein  JHOJ
poverty of the children 7 wigty SO0 o T
{11 Sarala (1) Do
(2} Author of the passage (2} M;!'QL‘; Gdond
3k VWirnal | (3 m

i4) Lala Munshiram (W Emam&

B7. What is the purpose of reading the points .
that mre noted on the paper which are [87- T Sepord e rﬂ-ﬂiﬁuﬁg é_]m::i;
dictated by Lala BMunshiram ? soToiy 80N Sdddin Ges addgub

(1) =& ol oo

1) It is & habit

:2: To gt clarity in writing ) |olared’ d drotivd

{3} Just for reading sake 3 SSSornd depEdh

{4) The points would be fixed in the brain of ) erer Fnbol Dédd®  Dbolres
Lals Munshiram pidem DEL soRFhes

88, Which one of the [ollowing Airansport
means is mod used on their trips from
village to village ?

BE. |mRae Mod |mide 3hordd & (20b
S ﬂ‘ﬂu‘gﬂﬁ‘ #200 AdfrhodBd T

ST
(1} Bus |
(2 SSGpod
12) Bullock cart "
3 Auto 3 ws
(4) Rickshaw 4) oF
B9. How did the outhor's job become [gp, goond e olfpiie g Ao
monptanous 7 D543 woudd 7
1) Recording names and addresses (1) b feboly Dbadreo (SreuEhdie
(2} Talking something to the villagers (2) (ripol 28s drgddis
{3) Enating food

(3} watdde Sdddn
4) wolnE ﬁﬂaﬂﬁﬁﬂ ereoe

(4} Threugh discussions with all

80. In which month did the auther return

home 7 90, o Aos’ ddond mod BOALDNE T
{1} January (1) =550

2} March 2 &r0y

3y May 3

i4) December 4) Adownd
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Directions : The following questions (91 to 120)
contain four sentences which in their present
arrangement lack coherence, connection and
development. There is only one way of rearranging
them to make a coherent passage. Choose the correct
arrangement from the alternatives given and mark

Your answer as (1), (2), (3) or (4) in the answer
sheet.

91. a. Suddenly I was startled by loud shouts

of “Fire! Fire!”

b. I was sleeping on the roof of my house
as it was summer.

c.  Luckily there was no loss of life.

d. After a tough struggle of about two
hours, the firemen were able to bring
the fire under control.

(1) dcbha
(2) abed
(3) badec
(4) bead
92. a. The old man replied that he might not

eat the fruit of those but others would
eat.

b. The king asked the old man when he
would get fruits from those plants.

¢. The king was pleased with the old man
and gave him a gold coin.

d A king went on horse-back to the
countryside and saw an old man digging

the earth and planting mango saplings
in the field.

(1) dbac
(2) adch
« (3) dach
(4) abecd

(26)

[A]

OFFSvew : (808 (SHost (91 - 120) a8y H
T asgod  FOAALHS. od S
[Fdws® o Frsgost o) DS Sdeotsn o
Sowodiw md Dsedtwmd . ovdd B850 &8
28 (E9505° DRSSP SrSD SoSgabsn Ho
S0F)BS0m @S, (S0 HrdodS (ESvost
SOGHIB X)W, &b Sdrgrard) (1), (2), (3) To
(4) D SBrged Spered® H00:3504.

91. a ‘“dobew ! dobw " oI K
viPHos T  oimHm  adE
addrfairin.

b. FHJscedw 2orerd S

End‘ﬁﬁéy@é D|Bohihodsd.
c. ud&éﬁm@ Dab D@ asnB.
d. Tod dobeo HE doewo domed,

@ﬁﬁ&:& et woboi
Dobo|SodKOmd.

dcba
abed
badc
bcad -

(1)
(2)
(3)
(4)

o8 Peoren FTh BSTH 570 aden

S3880 & Awddad JDrErIDT Y.

b. &8 o ILdod Hodww o) ek
DU e ove awodarde
wdi.

c. Hwd0TES oz Tror Do hoD .k

2o0md TRaun 2rrLdod,

d. swabs HEWp KD ok

92. a.

=

e Podwnd”  rdd  (SHpde
aradbd BnE ol oroddy  aE
RoDOTEY .

(1) dbac

(2) adeb

(3) dach

(4) abed
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94.
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(1)
(2)
(3)
(4)

(1)
(2)
(3)
(4)

(1)
(2)
(3)
(4)

Indiavidya.com
1 27)

My hobby gives me immense pleasure
and I am able to make the best use of
my leisure time.

A hobby is something that a person
likes to do in spare time.

My hobby is planting flower-plants in
my house-garden.

These plants include rose, lily, jasmine,
dahlia and sunflower plants.

abcd
beda
dabe
dbca

This job is done mostly by women.

It is interesting to see tea-leaves being
plucked.

Our best tea-gardens are there in the
Kangra Valley, Dehradun and Assam.

Tea is
hill-slopes.

abed
beda
adch
deba

grown in tea-gardens on

A frog is a small animal that has
bulging eyes and long back legs.

The strong hind legs enable the frogs to

~ leap further than the length of its body.

Frogs are classified as amphibians.

Most amphibians spend part of their
lives as a water animal and part as a
land animal.

abed -
bcda
badec
cabd
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(28)

The day was hot.

But in the end all reached the homes
safely.

The picnic party reached the lake by
11.00 a.m.

All went well till we heard Ashok shout
for his life.

acdb
dbac
cadb

abed

Not much is known about Newton's life
at Cambridge in the early years of
professorship. |

He experimented with many techuisyues
for grinding lenses (using tools he made
himself) and in about 1670 built the
first reflecting telescope.

But it is certain that the construction of
telescopes and optics were among his
main interests.

The simplicity of his prismatic analysis
of sunlight has always marked this
early work as one of the timeless
classics of experimental science.
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They arrived at Calcutta — about the
middle of the month of October.

They expressed their great and sincere
admiration for the devotion and faith of
the worshippers of the Goddess Durga.

At this time of the year, almost all the
Hindus in West Bengal are busy with
‘Durga Puja’.

A  certain number of ladies and
gentlemen from the United States of
America came to India to vm:L some
important places.

abed (2) cbad

acbhd (4 dach

Knowing the dangers of drug abuse, the
governments of many countries have
taken various steps to deal with the
problem.

This is the misuse of drugs - drugs
obtained illegally and taken for the

purpose of getting pleasure and thrills. )

Today we hear a lot about drug abaze.

This practice can ruin a person’s life and
even lead to death.

abed (2} ecbda
bdac (4) dabe
Besides nature, good human

relationship is totally free of cost.

Friendship, love, loyalty and concern do
not cost us money.

The love of a mother for her child, which
ensures the continuation of the human
race has no price.

It cannot be repaid in cash or kind.
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No visitor to India ever misses it.

Among the many places of interest in
India which attract visitors from all

parts of the world, the Taj Mahal stands
first.

Taj was built by Shah Jahan in living
memory of his wife, Mumtaz Begum.

The tomb of Mumtaz and Shah Jahan
himself are inside the building.

abed (2) bade

bacd i4) dabe

Most of the sharks are not ferocious.

Sharks live in all the oceans of the
world.

On the other hand, there are a number
of sharks which have killed swimmers.

They are found mostly in subtropicai |

and tropical waters.

cabd (2) dabe

abed (4) bdac

Snails like to sleep during cold and dry
weather.

They have no inside shell, only a soft
body and a big shell which they use as
a house.

Snails live on mountains, in deserts, in
forests and towns.

The French grow, boil and eat 250 million
of them every year.
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I take lunch at around 1.00 p.m.

I return in the evening.
I go to school in the morning at 9.00 a.m.
My name is Anil.

dcab (2) abed

cdba (4) bdac

He explained the procedure of boiling
the egg and went away.

Thomas Alva Edison was a great
scientist. He had a cook.

By the time he returned, the scientist
was boiling the watch and looking at the
egg.

The cook had to go out for some time.

abecd (2) cdab

bdac (4) dabc

When I entered his house, his sister
asked, “Why didn't you attend the party
last night 7.

I had a lot of work to do and went to the
party after the completion of the work. I
was a little late.

I was late by a day.

One of my friends invited me to his
birthday party.
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Now he is studying in IIT, Bombay.

Jaswanth completed his Intermediate
course.

He got good rank in IIT -Entrance
Examination.

He wants to study Engineering
and so he wrote EAMCET/IIT-JEE
examinations.

abed (2) bacd

dach (4) bdca
Its blood showed common qualities with
the blood of the malaria patients. Thus

it was confirmed.

Ronald Ross conducted a series of
experiments on the different kinds of
mosquitoes in order to find out the
traces of the parasite.

Physicians and others worked
continuously to find out the causes for
malaria.

Two years did not yield any resuvits. At
last he found a species.

cbda (2) abed

dcab (4) bacd

But one day he happened to hear a
famous Professor of Mathematics
lecture at the University.

He got interested
Mathematics.

in the study of

Young Galileo wanted to study medicine
and become a doctor.

So he took up the study of Mathematics

and Physics in the University.
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Some passengers jumped off the boat.

The boat had twenty workers.
Two fell into the river.

The boat-man was a good swimmer and
saved them.

deab (2) dbca

abed (4)

becad

Ravi found his
morning.

pen missing one

He had to prepare some notes and hence
stole the pen from his father’s shirt

pocket.

Ravi's father was searching for his pen.

He felt sorry and gave the pen to his
father.

cbda (2) abed

dabe (4) bcad

Untreated hepatitis causes severe
damage to the liver and the patient may
go into coma and also die.

Inflation of the liver iz known as
“hepatitis”.

Recent research has aimed at
developing a vaccine against hepatitis.

The virus is spread by food and water.
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Robinson Crusoe was a brave sailor.

With the help of a ship, he returned
home after twenty years.

He was alone for twenty years on the
island.

He was shipwrecked and reached an
island; the members of his family
thought that he was dead.

(2)
(4)

adch abed

cbad dabc
One day Fred was coming home from
his uncle’s house.

Dykes were built to stop the sea-water
entering the towns or villages in
Holland.

There was nobody around its
surroundings and so Fred thrust his
hand through the hole and stayed till
morning.

He knew the danger of the hole in ihe
dyke.

dabec (2) cdab

bade (4) abed

Hiuen Tsang was educated in the

ancient Chinese Confucianism.

He wanted to visit Buddhist centers in
India, particularly Nalanda, where he
got answers for his many questions,
from Buddhist monks.

Chinese pilgrims made the perilous trek
to India to visit holy places.
There were strong cultural links
between China and India.
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Honey-bees communicate by way of
dancing in a peculiar way and it shows
that there is plenty of honey in the
flower garden nearby.

Honey-bees work hard to store honey for
winter.

Bees march in a line to gather honey.

We should learn from honey-bees how to
cooperate with one another and work
hard.

cdba
dabec
decba

acbd

Early astronomers were skilled

observers of the night sky.

Once people mistook that the Earth was
the centre of the Universe.

Mostly, however, the Universe consists
of empty space.

They tried to explain what they saw and
put forward their ideas about what the
Universe was like.
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121. If A =11, 2, 3, 4) and B = (2, 4, 5), then |121. A = (1, 2, 3, 4 0ok B = {2, 4, 5|
A-B) U (B-4 = ' wondS, (A-B) U (B - A) =
(1) (1,3, 5) (0 11,3, 5l
(2) 12, 4,5) (2) 12, 4, 51
@ 12 4] 3 12, 4]
4) 13, 4, 5) 4) 13, 4, 5]
122. Find the geometric mean of 5 and 125, 122, 5 bof 125 © G as-g;b{iaiu
(1) 10 M&&E‘mh Ko Sosw
(2) 15 (1) 10
(3) 20 (2) 15
(4) 25 {(3) 20
123. Find the arithmetic mean of the numbers (4) 25
7,5, 6, 8,9, 1, 6. 128. 7, 5 6 8 9 1 6 o 5..‘-:.‘.-53_
(1) 4 aagéﬁg&m ¥ s
(2 5 (1 4
(3 6 (2 6
4 17 3) 6
4) 7 .
124. In a class of 50 students, 30 take
Mathematics, 25 take Biology and 15 *aka [124. 2.¥ S8185%) 50 od :J:s-ggmﬁ‘, 30 Hob
both Mathematics and Biology. Hov ‘many | Hedetnoin, 256 o Lda9dwn wbokn 15
students take neither Mathematics nor 208  He3sHn  doky  Edwdyded
Biology ? RS T el Sodorm B¢
(1 5 257D SREDD darghen ot ?
(2) 10 (1) 5
@) 15 2 10
4 20 3 15
125. In a class of 40 students, there are 4) 20
30 students who - play tennis and |125. 65565‘3 40 fod dorghod’, 30 Wwod
20 students who play cricket. Every AP Et:-m#a E’mﬂnﬁa 20 ®od |88&
student. must play at least one of.the two H-.*.:n‘%: %c' 9 &1 BodosS* D4
games. How many students play both the e wd gu"i} Jﬂé od ;'Jn's-:i:rm &
games ? ' Soih sbod udddh 7 -
(1) 2 (1) 2
(2) . 6 (2) 6
(3) 9 (3 9
(4) 10 (4) 10
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126.

127.

128.

129,

The angles of a triangle are in Arithmetic
Progression and the greatest is three times
the least. Then find the greatest angle.

(1) 30°

(2) 60°

(3) 90°

(4) 120°

In a triangle ABC, £ B = 90° and the
lengths of two sides AB and AC are
12 units and 5 units respectively. Find the
length of the hypotenuse (in units).

{1) 11
(2) 12
(3) 13
(4) 14

The ratio of the length to the width of a
rectangular field is 4 : 3. If the width of
the ground is 90 meters, then find i1z
length (in meters).

(1) 100

(2) 120

(3) 140

(4) 160

If we divide T 968 among three people
such that the first may receive 4 times as
much as the second and the third may
receive 3 times as much as the second,
then how much amount (in rupees), will

the second person receive ?

(1) 115
(2) 118
(3) 120
(4) 121

indiaviglyacom

126. 2% |BHadnd’ drd Seror ®of

HoHys® gomon ook HEB WS
fardosen. DG Sodn Jod 7

(1) - 30°

(2) 60°

(3) 90°

(4) 120°

. AABC o3 @Zhmind®, £ZB = 90°, AB

Hooy AC oF PHo JdHew HHDH
12 ofrddy WOO% 5 obrdiy. E»
GloE)y D) (o8 s®) dod ?

(1) 11

(2 12

(3) 13

fgy 14

L B8 SEEFTE Fsdo gy DEH

bofy Bevne B 4 : 3w ElEEY
ey H0 . wondT, T gy iy
(p&ES) Do ?

(1) 100

(2) 120

(3) 140

(4) 160

. T 968 o i HgHoH IES T8

codnara5od a“@oﬁw =nBoin
Hrdonarad Todaaadod Sardoden
Godkidty DHoUdB. e Toda 938
Sod Bwdo X o) o 7

{1y 115

(2) 118

(3) 120

4y 121
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* 130.

131.

132.

133.

134.

A decided to divide ¥ 98,000 between B
and C such that B would receive T 18,000
more than C. How much amount (in
rupees) would B receive ?

(1) 40,000

(2) 58,000

(3) 18,000

(4) 26,000

IfACB,thenANB=

(1 A '

(2) B

(3) A\B ;
(4) B\A

If f and g are two real valued functions
defined on the set of all real numbers by
fix) = x - 2, glx) = x>+ 3, x is a real
number, then find (gof) (3).

(1)
(2)
(3)
(4)

25
16

Find the value of k so that
x> —3x% + 4x + k is exactly divisible by
x - 2.

(1) 4

(2) -4

(3) -6

(4) -8

The length of a hall exceeds its breadth

by 8 meters and its area is 153 mel‘.ersi.
Find the breadth of the hall (in meters).
(1) 25

(2) 16

(3)

(4)

Indiavidya.com
(39)

130. ¥ 98,000 & A edardh B Hbokn C o g

131.

132-

133.

134.

(]

Sossdords. C So8 B & T 18,000 2E¥nd
S0y5eF, B & &) Swdde (Srarabod’)
o 7

(1) 40,000

(2) 58,000

(3) 18,000

(4) 26,000

ACBuwondS, AN B-=

(1) A
(2) B
(3) A\B
(4) B\A
By JR08 Dowge dAworakin P f wbok
g Bodh RDE AGeDodd do (ddhorew.
wd (300 Anwm JGLDoD1AR
fxi'=x - 2, glx)=x° + 3, &° x 2.¥

TRVE Sowg
wondS (gof) (3) J ESRHEw
(1) 25
(2) 16
(3)
(4) 4

P rdx+ ko (x-2)F pydom
r2onsd, k Jeodiy iy

(1 4
(2)
(3)
(4)
28 Fen Gy PdY, Sdesy K08 8 Do
AR d 65D Dok oD Gy G
163 Dod’. S o) Idwyd (WoYS)
L e

(1) 25
(2) 16
3 9

4) 7
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135. Find the sum of the first 200 natural [135. w8 200 5w ;’Juq:agt: e
numbers. 0o
(1) 10100 (1) 10100
(2) 20100 (2) 20100
(3) 30100 (3) 30100
(4) 30104 (4) 30104
136. lim L Sl 19¢. lim x-1
: x=+1 [x+3-2 x=1 (x+3-2
(1) 6 (1) 6
(2) 5 (2) 5
(3) 4 (3) 4
(4) 3 (4) 3
137. Find the middle term of the expansion of % 8
187. [+ 1] owg  DhEesD g
X ¥ 8 y X -
[; L ;) : S EHFSdn
{1) ¢ 1 %,
@ B¢, , 2 e,
3 B¢, @ B¢,
4 fc, @ °c,
138. The first term of a geometric progression |138. aig:héulﬁ DEoDESTW DS HSEw 50
is 50 and the 4" term is 1350. Determine wboln 4 H D&Hw 1350. 5 L HSA0D
the 5" term. o
(1) 3050 (1) 3050
(2) 4050 (2) 4050
(3) 5050 (3) 5050
(4) 6050 (4) 6050
139. (xﬂ.}h-l! % {xh}l:--ﬂ ® [xi:]ﬂ - b = 139' [xﬂ:'b—l: % Ixh}t_ a ?‘ {xcjl—b o
(1 o (1) o
1 1
(2) 3 (2) 3
3) 1 (3) 1
(4). ab + bc + ea (4) ab + be + ca
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» 140. Find the equation of a straight line

141.

142.

143.

~ passing through (3, 4) and having slope 3.

(1) 3l+]|’—ﬂ=ﬂ

(2) 8x-y+9=0

(3) x-8y-9=0

4) 3x-y-9=0

From a ship mast-head 175 meters high,
the angle of depression of a boat is
observed to be 45°. Find the distance of
the boat from the ship (in meters).

(1) 150

(2) 160
(3) 175
(4) 200

Find the mode of the following data :
7,9, 817,76,3°721,729,7

(1)
(2)

(3)
(4)

w L, -1

Find the mode when median is 125 and
mean is 128. '

(1) 119

2) 121
(3) 132

(4) 1208

{41)

[al

140, (3, 4) DoY) H0d IYSH) WO e

141.

143.

142,

3 Ko H5¢ T dSo¥Sodnd SR Hdn

(1) 3x+y-9=0

(2) 8x-y+9=0

(3 x-38y-9=0

(4) 3x-y-9=0

of FE Joghn D DB 175 bY
08, 2¥ DS Foky Ewdn 45°. FE
D08 DD ) Srddy  (Dedsh)
Eofonn

(1) 150

(2y 160

2y 175

(4) 200

& |S08 deroddn ﬁné& RaroF
Ko moaw

7,9,8,1717,6,3172,1,189,17

(1)
(2)
(3)
(4)

| =3 m

DPeridin 125 By  Dogigdvidw
o, parsEing SRRt

128

(1)
(2)
(3)
(4)

119
121
132
120-8
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1
144. If A:[
2

145,

BA =
1 0
8 -3
-1 0
(2) [ ]
-8 3
1 16
(3) ( ]
0 -3
1 16
@ [ ]
-3 0
-2 1
Ifﬁ=[ ] then A+ A =
3 -1
-1 2
(1) [ )
6 1
1 0
(@) [ ]
2 1
-2 0
(3) [ ]
0 1
1 2
(4)

145.

Indiaviglya.com

4 9 -4
and B = , then
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146. If 3x +43r-=3'anﬂx—f-ﬁy=_1ﬂ, then 148. 3x+4y¥3é)ﬁmx—ﬁy=1? SOV,
(x, y) = (x, y) =
(1) 4,1 . W @1
@ (4,-1 2 @, -1
3 (-4,-1) @) (-4,-1)
(4) (-4,1) (4) (-4, 1
i-ﬂ. Ifx=sech + tan 0 and y = sec O — tan 6, 147, x = secB + tan B oy y = sec © — tan @

148.

149.

150.

then find a relation between x and y by
eliminating 9.

(1) xay =1
(2) xy=1
{3:| }L}f = —1

(4) X2 +y2 =1

(sin .E' + cos 0)° + (sin 6 — cos 0 =
1) 0

(2) 1
3y 2
(4) 3

-

The radius of a circle is 14 em. The angle

subtended by an arc of the circle at the
centre is 45°. Then find the length of the
arc (in centimeters).

(1) 8

(2) 10

(3) 11

(4) 14

Solve |2x - 3| < 5.
(1)
(2)
(3)
(4)

—B=x<»2
—1=x<4
Bsx<8B

5<x=6

148.

149.

150,

wondS, 0 & Shoudm SRS x wdoky y
o Sdgrho Aowodto it

(1) xy=1 -
(2)
(3)

(4) - +:.-'2=1

sin 8 + cos 612 + (8in O — cos El]l2 =

(1 o
(2) 1
(3) 2
(4) 38°

28 H)ddn gy sgrdin 14 0.0, B
Glo¥), =¥ Hgorddn Solddw B3 Fods
Sefn 45° oondT, DH)dordin ¥y
2dd) (Poddwbdd®) Sfimhiw

(1) 8

(2) 10

(3) .11

(4) 14

DOy Boilodn (Solve) |2x — 3| =5
(1)
(2)
(3)
(4)

-Bsx<-2
-l=sx=4
6<x<8
b<x<6



